HTET Question Paper Nov. 2015 : Level-3 PGT (Computer Science)
(19) A
A -IV/PART -1V
HGII WEH/ COMPUTER SCIENCE
Féer : FrfareT gedi & goe 87 3 ke g98 3R R gAT/

Direction : _Answer the following questions by selecting the most appropriate option.

91. = sifex 2 Rgw #t 6333 F7a B 91. .....cocooo.... Operator is used for
appending two strings.
1) & | ! 1) &
b % @ %
@3 |1 @ ||
4) - il
92. = ¥ q IR T G!TE@T*!'TW 2 92. Which one of the following is a valid
(cH) ? identifier (in C) ?
(1) datal : (1) datal
(2) 1data (2) 1data
(3) exit (3) exit
(4) string (4) string
93. M= array [9] T F P-4 TR 93. Element array [9] is which element of
g7 the array ?
(1) 7th (1) 7th
(2) 9th ' : | (2) 9th
(8) 10th ‘ (3) 10th
(4) 8th (4) 8th
94. CPU U9l & s om &, = i 94. CPU fetches the instruction from
4G & AR ' memory according to the value of
(1) Program Counter (1) Program Counter
(2) Status Register (2) Status Register
(3) Instruction Register (8) Instruction Register
(4) Program Status Word (4) Program Status Word
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95.

96.

917,

98'

- !

TR um | abufag 78 e €
(1) Loops

(% $GOTO statements

(3) DO-WHILE statements

(4) IWF A

Rt S A & figw Feda &
THH

(1) Rmew
(2) F=WRA
(3) i
(4) ™

w fgm ARuew § & IG @ FA
3 R oMy C++ # Fg BRE T@m
T Fhd &

(1) Assign
(2) Strcpy
(3) Copy

(4) Strcopy

®RM abort () =
|1

(1)
(2)
3
(4)
a‘rﬁﬁsm%ma?f,mﬁﬁmﬁg

T A_BU @ @ <O d AT e
Q. Sfosr 2em

<math.h>
<stdlib.h>
<jostream.h>

<stdio.h>

(1) Select
(3) Union

(2) Join

(4) Intersection
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95.

96.

97.

98,

99.

Structured program do not ini
(1) Loops

(2) GOTO statements

(3) DO-WHILE statements
(4) All of the above

The
language are its

rules to any progr:
(1) Syntax

(2) Interpretation

(3) Logic

(4) Customs

You can usegsthe’ ;followim
function to assign a value to a
variable /

(1) st

2 Strcpy

(35 Copy

) (4) Strcopy

The function abort ( ) is decl:
the header file

(1) <math.h>
(2) <stdlib.h>

‘ (3) <iostream.h>

(4) <stdio.h>

The operation which allow
combining of two relatior
merging pairs of tuples, one
each relation, into a single tuple

(1) Select (2) Join
(3) Union (4) Intersect:



100.

101,

102,

103’

104.

C++ ¥, FAH B 32T F BRE Feamr
-

(1) TF T SR

(2) T e

(3) T TG M

(4) F 53 g

FLAN RAvRe o afs =
TR

(1) Network

(2) Tree

(3) Chain

(4) Relational

PUSH & POP 8% sifqigm & ?
(1) QUEUE

(20 ARRAY

(3) LINKED LIST

(4) STACK

Pt & & A8 re =te ¥ R
SECH H HUeW Bl & 9 Ryen & R
& 999 a9 B B 7

(1} Object file

(2) Source file

(3) Executable file

(4) Text file

Constructor ®H T 2
(1) Class §4 &

(2) Object M

(3) Class @H F17 §

(4) Object @HF HH |
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100.

101.

102.

103.

104.

A
In C++, a function contained within a
class is called
(1) a member function
(2) an operator
(3) a class function

(4) a friend function

The logical data structure with a
one-to-many relationship is a

(1) Network
(2) Tree
(3) Chain

(4) Relational

PUSH & POP are operation of
(1) QUEUE

(2) ARRAY

(8) LINKED LIST

(4) STACK

Which file is a sequence of bytes
organized into blocks understandable
by the system's linker ?

(1) Object file

(2) Source file

(3) Executable file
(4) Text file

Constructor is used during
(1) Creation of Class

(2) Creation of Object

(3) Desroying Class

(4) DwStroying an Object

B.I.O.



105.

106.

107,

108.

109.

A A Mewew A ¥ 2w
37 |

(1) SAM
(2) ROM

(3) RAM

(4) PROM

fefores Rt B

(1) B fat

®) T e A Ry
8) TR gEe

(4) sEfarEd et
ZImeg o SEa

_ (11011110),
) 65

(2) DE

(3 ED

@) 56

et 8| & S A

T/ R
R & T B TS B FEA ©
1) Waiting time
(2) Turnaround time

(3) Response time
(4) Throughput

T e ¥ ¥
) 1byte

(2) 4Dbit

(8) 2 bit

(4) 6 bit
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105.

106.

107,

108.

109.

Which memory stores the values of

variables ?
(1) SAM
(2) ROM
(3) RAM
(4) PROM

A digital signature is

(1) A scanned signature

(2) Signature in binary form
(3) Encrypting information

(4) Handwritten signature

Convert to Decimal

(11011110),
(1) 65
(2) DE
(3) ED
(4) 56
The interval from the time of

submission of a process to the time of
completion is termed as

(1) Waiting time-

(2) Turnaround time
(3) Response time
(4) Throughput

One nibble consists
(1) 1byte

(2) 4bit

(3) 2hbit

(4) 6 bit



110.

111

112.

113.

114,

o= T &I 398 off S S B
(1) |FFIH

@) R FmE

(3) = FaH

@) fetge =

I @& 1010 AR 1011 & AT B
T 2

(1) 10101011

(2) 10111010

(3) 00010101

(4) 10101000

TCP FM T &

(1) Transport layer H
(2) Internet layer &
(3) Network layer ¥

(4) Application layer &

e e ofmer = & g gu
e ®

(n >

2) >>

3 —>

4) <

C foEe & FraEe Wikies GE &
LERES _

1) @&

(2) Ted _

(3) w2 T it #an B

(@) <o AR F R
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110.

111.

112.

113.

114.

A derived class may also be called a
(1) Subclass

(2) Super Class

(3) Parent Class

(4) Derived Class

Binary addition of 1010 and 1011 i
equal to

(1) 10101011

(2) 10111010

(3) 00010101

(4) 10101000

TCP is used in

(1) Transport layer
(2) Leternet layer
(3) Network layer
(4) Application layer

The - right
represented by

1 >
2) >>
3 —>
4 <

shift  operator

C preprocessor edan have compile
specific featuves

(1) True
(2) False
(3) Depends on the standard

(4) Depends on the platform

P



115.

116.

117.

118.

119.

0S # #Hg #: T A 3 fm,
e e A firerr 2

(1) System cells
(2) API
(3) Library

(4) Assembly instruction

T F1 F Tewgel g ¥

(1) GfafeEr

(2) Wisfrefad

(3) foam wwa & &9 4 @9 F0 @
4y A

| % 49 § g6y R 3 ke w@
F N A A (Fh) P B

(1) s

(2) TFvsh

(3) BRF

(4) PHRITS

Qﬁﬁzﬁfﬂ'ﬁ?ﬁrﬁﬂﬂﬁ'(Key)wzﬁ
JAPT T &

(1) EEER
(2) B4

(3) T=H

(4) faFafearam

GSM %1 7of &9 &
(1) Global Scientific Model
(2) Global

Communication
(3) Globally

Communication

@) I ¥ { W 7@

System for  Mobile

Systematic ~ Mobile
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115.

116.

117.

118,

119.

To access the services of OS, the
interface is provided by the

(1) System cells
(2) API
(3) Library

(4) Assembly instruction

An important aspect of coding is

(1) Readability

(2) Productivity .

(3) To use as small mewety as possible
(4) Brevity

Key to represent relationship between
tables is called

(1) Primary

(2) Secondary

(3) Foreign

(4) Compound

The method of access which uses key
transformations is known as

(1) Direct

(2) Hash

(3) Random
(4) Sequential

Full form of GSM is
(1) Global Scientific Model
(2) Global

Communication

Globally
Communication

Systetp  for Mobile

3) Mobile

Systematic

None of the above

€Y



120. FURA F T4 I9GFT 0B &
(1) Complete
(2) Tight
(3) Loose
(4) Free

121. PfyEw 73 F& @ &% fE-ar ey

(1) 9= gaqUe B

(2) TIR frF FeEg @

(3) §a8 ¢

(4) 999 99 gEq @ e e

122. HH-H Object Oriented Programming

Language 27
1 ¢
(2) Simula
(3) C++
@ (2) 8T (3) I
128. 3T OF g R S g @
(1) 2 9T WifesE &
2 Rere dam #
(3) F&a TV J<a%
(4) TAART R

124. puts()%
(1) FTYC FRE
(2) SIITYE HAAT
(3) 3YE T IMITYE FRE il
4) IR § & g 7
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120.

121.

122,

123.

124.

The best form of coupling is
(1) Complete

(2) Tight

(3) Loose

(4) Free

Precedence determines which

operator

(1) is evaluated first
(2) 1is most important
(3) is fastest

(4) operates on the largest number

Which one is Object Oriented

Programming Language ?
(1) C

(2) Simula

(@) C++

(4) Both (2) and (3)

Telnet is a service that runs
(1) Television on net

(2) Remote program

(3) Cable TV Network
(4) Telenext

puts()is an

(1) Input function

(2) Output function

(3) Both input & output function
(4) None of the aboye

P.T.O.



125

126.

127.

128.

129,

Leve

.ﬁwﬁﬁﬁmmHTMLﬁﬁEﬁv%
foe @&t 2 ?

(1)
(2
(3
4)

c++mmﬁ@m%q%@q%m
e 8§

(1) "res

(2) ufeds

(3) HrEde

(@) ST ¥ F B T

o Aferw § a9 ¥

(1) 957 9N S dead

(2) ET 9 q@d S Ry 59 3
(3) TURT erEdam

(4) IR F q§ 9F 7§

Ethernet LAN W 5 R9r 3 SIES
UF WY AT AREEE FR ey 507

<meta> </meta>

<meta name =" />
<metadata> ,....... </metadata>

<metadata name =" ">

1 1
2) 2
3) 3

(4) IR F F )
OSI Afew &t drrdt a2

(1) Network

(2) Transport

(3) Session

(4) Datalink
1-3/281
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|

125. Which of the following 1:, C
regarding meta tag in HTMIL, 9

@)
@)
(3
4

<meta> ..... </metg>
<meta name =" "/>
<metadata>

........

<metadata name =" "/>

126. The fields in a class of a C++ pre
are by default

(1) Protected

(2) Public

(3) Private

(4) None of the above

127. Sparse matrix have

(1) Many zero entries
(4} Many non-zero entries
(3) Higher dimension.

(4) None of the above

128.. How many pairs of stations

simultaneously communicate

Ethernet LAN ?

1

(2 2

3) 3

(4) None of the above

129. Which one is the third layer of t

OSI model ?

(1) Network
(2) Transport
(3) Session
(4) Datalink



130.

131.

132.

133.

134.

TR F 0 R 9E # T6E @
W T & R e SieET wan
da d?

m

2) &'

)

@ >

W am o o RwiteEe &
wefed #3 B B A &, Feww &

(1) Stack pointer
(2) Cache

(3) Accumulator
(4) Disk buffer

Quick Sort ¥ FH-A1 BT FHT FM
Fame ?

(1) QUEUE

(2) STACK

(3) GRAPH

(4) TREE

e sEifved A RhE R @
& B 2 7

1) %

@ &

@) #

@ "

@ we fed F0 aW EReT g U
w3 Ry R B

(1) float f();

(2) float * £()

(3) float (*f) ();
(4) float ™ (*h) ();
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130.

131.

132.

133.

134.

A

For accessing a structure element
using a pointer, you must use which
operator ?

(1) '.l

(2) L &t

(3) et

( 4) l'_>l

A memory buffer used to
accommodate a speed differential is
called

(1) Stack pointer

(2) Cache

(3) Accumulator

(4) Disk buffer

Data structure used in Quick Sort

18

(1) QUEUE
(2) STACK
(3) GRAPH
4) TREE

The preprocessor directives always
starts with the symbol

1) %

2) &

(3) #

4 ""

Write a declaration for a pointer to a
function that returns a float

(1) float £();

(2) float * £f().

(3) float (*H) ();
(4) float * (*f) ();

P.T. O.



135.

136.

137.

138.

139.

Faer # ddved ANG A e
gl A A @

(1) ==
(2) @&t
(3) o=
(4) 4t

o fee A % 99 Srer TRy S @l
gieen &l ¥, 7 7@ wEa §

(1) Reprehensible
(2) Encapsulated
(3) Overloaded
(4) Extensible

O B = - L o | B e
e & R Rear o @

(1) Binary Tree

(2) Queue

(3) Graph

(4) STEa § & 8 74

% UEege ¥ o G4 A A
TqYE Feal ¢
(1) despe ¥
(2) e
3) I -

@) 7

(1) Union

(2) Intersect
(3) Difference
(4) Projection
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135. As

136.

137.

138.

139.

compared to the secondary
memory, the primary memory of q
computer is

(1) Large
(2) Cheap
(3) Fast
(4) Slow

to produce new data type, it is said
be

(1) Reprehensible

(2) Encapsulated

(8) Overloaded

(4) Extensible

When a language has the capabiliq

The data structure which is used fq
the expression evaluation is
(1) Binary Tree

(2) Queue

(3) Graph

(4) None of the above

The set of permitted values for eaq
attribute is called its
(1) Attribute set
(2) Attribute range
(3) Domain

(4) Group

The operator which takes the res
of two queries and return only rﬁ
that appear in both result sets is
(1) Union

(2) Intersect

(3) Difference

(4) Projection




140. 1 & | FH-91 gremel § 7
(1) BT
2 o=
(3) =
(4) ¥BRET
141. 7% R¥FT T U IRy SW°T 7RY B
U AT T OSRT AGW & #
(1) GF=¢
(2) WTEE
(3) =T
(4) ¥
142. 1 & 3 3 RRage @ By @
WA . ger: g9 e A ReEE e
eRF W TAT F €, T T R 7
(1) &= (2) B
@) ™= (4) frdrex
143. aﬁw@ﬁ%wmﬁmqw
- W TR R
(1) Processes
(2) Threads
(3) Instruction
4 I § Q3 Al
144. HTTP T &eem &
(1) TEW TFE T A
(2) TEW g oty AR
(3) TEW I T NN
(4) I ° A E
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140.

141.

142.

143.

144,

Which one is the translator ?
(1) Compiler

(2) Loader

(3) Linker

(4) Macroprocessor

‘The feature that allows you to define
new data types that are equivalent to
existing data types is

(1) Pointer

(2) Typedef

(3) Structure

(4) Union

Which of the following device is used
to connect two systems, especially if

the systems use different protocol ?

(1) Hub (2) Bridge

3) Gateway: {4) Repeater

Because of the virtual memory, the
memory can be shared among

(1) Processes

(2) Threads

(3) Instruction

(4) None of the above

HTTP Refers to

(1) Hyper Text Transfer Protocol

(2) Hyper Text Transmission
Protocol

(3) Hyper Text Tie Protocol
{4) None of the above
P.T.O.



145.

146.

147.

148,

149.

150.

NEW DELHI
(2) 10
) 7

(1) 9
3 8

fedtet OSI Afed # FF-81 Wa W &
HIAT & 7

(1) TR o
(2) 3@ foF T
(3) ATTDH AT

(4) TTAE AT

w REeERT § oF ohed @ wEE
FE 8, 98 39 ufd F Feaar §

(1) Participation
(2) Position
(3) Role

(4) Instance

gftrae doria § AL A =

(1) 0 2 1
3) 01 (4) 10
CH ot Fa€ 2d ¢

(1) Lowercase Letters
(2) Uppercase Letters
(3) Centralcase Letters

@) g &

1 § & #1983k 0S g FeEed
grtr ?

(1) 9fE% & B

(2 et & YuT 7 FH

(3) TP ¥ FARE BA B

(4) IT0F T

(30)

145.

146.

147.

148.

149.

150.

The length of the following string is

NEW DELHI
1 9 (2) 10
3) 8 4 7

Repeater operates in which layer of
the OSI model ?

(1) Physical layer-
(2) Data link layer
(3) Network layer
(4) Transport layer

The function that an entity plays in
a relationship is called that
EntICEE . ............ .

(1) Participation

(2) Position

(3) Role

(4) Instance

In Boolean algebra A . A'=
(1) 0 ® (2 1
@) 01 @ 10

All keywords in C are in
(1} Lowercase Letters
(2) Uppercase Letters
(3) Centralcase Letters
(4) None

Which one of the following error will
be handle by the OS ?

(1) Power failure

(2) Lack of paper in printer

(3) Connection failure in the Network
(4) All of the above
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